Unit costing/Job costing		Cost and Management Accounting
ICAN		CAP II
Unit costing is a form of process costing under which costs are accumulated and analyzed under various elements of costs and the cost per unit is ascertained by dividing the total cost by number of unit produced. It is applied in those industries where:
1. Only are the product or a few grades of the same product are produced 
2. Production involves only a single process or operation
3. Production is uniform and continuous
4. Units of output are identical
E.g. cement, steel, paper mills, bricks making 

Treatment of certain items in cost sheet
	Name of items
	Treatment

	Abnormal loss of raw material
	Deducted from the cost of material purchased

	Abnormal loss of finished goods
	Deducted from the cost of goods produced

	Scrap value of normal loss of raw material
	Deducted from the cost of material purchased.

	Scrap value of normal loss of finished output
	Deducted from the cost of goods produced

	Scrap value of abnormal loss of raw material
	Not shown in cost sheet but credited to profit and loss account

	Scrap value of abnormal loss of finished goods
	Not shown in cost sheet but credited to profit and loss account

	Cost of rectification of normal defective output
	Added to factory cost

	Cost of rectification of abnormal defective
	Not shown in cost sheet but debited to profit and loss account.

	Cost of normal idle time in factory
	Treated as part of factory expenses

	Cost of abnormal idle time in factory
	Not shown in cost sheet but debited to profit and loss account.

	Royalty on unit produced
	Treated as direct expenses

	Royalty on unit sold
	Treated as part of selling and distribution expenses

	Insurance of raw material
	Treated as direct expenses

	Special mould for casting taken on hire
	Treated as direct expenses

	Hire of special tools
	Treated as direct expenses

	Primary packing material consumed
	Treated as part of direct expenses

	Secondary packing material consumed
	Treated as part of selling and distribution expenses

	Estimating expenses of tender
	Treated as part of selling expenses

	Cost of computer purchased for office
	Depreciation of computer form s part of office and admin expenses

	Cost of free samples distributed 
	Deducted from cost of goods produced but cost of free samples forms part of selling expenses

	Cash discount on purchase/sales
	Not shown in cost sheet but debited to profit and loss account


Job costing is that form of specific order costing under which each job is treated as a cost unit and cost are accumulated and ascertained separately for each job. A job may consist of a job, batch of products, contract, a service or any other specific order. Here work is taken according to the customer’s specification.

Job ticket is a document which contains of several detachable portions each of which is detached and sent by the foreman to the production control department on completion of each operation of job.

Batch costing is that form of specific order costing under which each batch is treated as a cost unit and costs are accumulated and ascertained separately for each batch. Each batch consists of a number of like units. Used in Readymade garments, pharmaceutical, spare parts, toy, tire and tube manufacturing industries.

Economic lot size (Q)= (2US/C)^1/2
Where, Q=  Qty or  units of products in economic batch
S = Set up cost per batch
C = carrying cost per unit of production p.a.
U = Annual units of production

	Ordering Cost
	· Clerical costs of preparing purchase orders 
· Some spent finding suppliers and expediting orders 
· Transportation costs 
· Receiving costs (E.g. unloading and inspection) 

	 Holding Costs 
	· Costs of storage space (E.g. warehouse depreciation) 
· Security 
· Insurance 
· Forgone interest on working capital tied up in inventory 
· Deterioration, theft, spoilage, or obsolescence 

	 Shortage Costs
	· Disrupted production when raw materials are unavailable : 
               Idle workers  
               Extra machinery setups 
· Lost sales resulting in dissatisfied customers 
· Loss of quantity discounts on purchases 
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Question No. 1 Sipradi Pvt ltd undertakes to supply 1000 units of a component per months of January, February and march 2014. Every month a batch order is opened against which materials and labour cost are booked at actual. Overheads are levied at the rate per labour hour. The selling price is contracted at Rs.15 per unit.
From the following data, present the cost and profit per unit of each batch order and the overall position of the order for the 3000 units.
Month 			Batch Output		Material cost		Labour cost
January			1250			6250			2500
February			1500			9000			3000
March				1000			5000			2000
Labour is paid at the rate of Rs. 2 per hour. The other details are:
Month		Overhead		Total Labour hours
Jan		12,000			4,000
Feb		9,000			4,500
Mar		15,000			5,000

Question No.2 Component Pee is made entirely in cost centre 100. Material cost is 6 per component and components take 10 minutes to produce. The machine operator is paid 72 paisa per hour, and machine hour rate is Rs. 1.50. The setting up of the machine to produce the component Pee takes 2 hours 20 minutes.
On the basis of this information, prepare a cost sheet showing the production and setting up cost, both in total and per component assuming that a batch of:
a. 10 component		b. 100 component	c. 1000 components is produced.
Question No. 3 The demand of an item is uniform at a rate of 25 units p.m. The set up cost is Rs. 30 each time a production is made. The production cost is Rs.3 per item and the inventory carrying cost is 50 paisa per unit per month. Determine how often to make a production run and of what size? Also calculate re-order level?
(Re-order level= EBQ * shortage cost/(carrying cost+ shortage cost) – Monthly demand
Question No.4  X Ltd, is committed to supply 24,000 bearing per annum to Y ltd. on a steady basis. It is estimated that it costs 10 paisa as inventory holding cost per bearing per month and that the setup cost per run of bearing manufacture is Rs. 324
a. What would be the optimum run size for bearing manufacture?
b. What would be the interval between two consequtive optimum runs?
c. Assuming that the company has a policy of manufacturing 6000 bearings per run, how much extra costs the company would be incurring as compared to the optimum run suggested in a) above?
d. What is the minimum inventory holding cost?
e. Find out the minimum inventory cost per annum.

Question No. 5 A shop floor supervisor of a small factory presented the following cost for Job No. 303, to determine the selling price.
 Per Unit (Rs.)
 Materials 								70 
Direct wages 18 hours @ Rs. 2.50 					45 
(Deptt. X 8 hours ; Deptt. Y 6 hours; Deptt. Z 4 hours) 
Chargeable expenses 							5 
120 
Add : 33-1/3 % for expenses cost 					40 
160 
Analysis of the Profit/Loss Account (for the year 2012)
(Rs.) 					(Rs.) 
Materials used 				1,50,000 	Sales less returns	 2,50,000 
Direct wages:
 Deptt. X 	10,000
 Deptt. Y 	12,000 
Deptt. Z 	8,000 			30,000 

Special stores items			 4,000 

Overheads :
Deptt. X 	5,000 
Deptt. Y 	9,000 
Deptt. Z 	2,000 			16,000 
Works cost 				2,00,000 
Gross profit c/d 			50,000 
2,50,000 				2,50,000 
Selling expenses 			20,000		 Gross profit b/d 	50,000 
Net profit				 30,000 
50,000 					50,000 
It is also noted that average hourly rates for the three Departments X, Y and Z are similar. You are required to: 
Draw up a job cost sheet. 
Calculate the entire revised cost using 2012 actual figures as basis. Add 20% to total cost to determine selling price

Question No. 6 In a factory following the Job Costing Method, an abstract from the work-in-progress as on 30th September was prepared as under. 
Job No. 		Materials (Rs) 	Direct hrs.	 Labour (Rs) 	Factory Overheads applied (Rs.) 115		 1325 		400 hrs.	 800 			640 
118 		810 		250 hrs. 	500 			400
 120 		765 		300 hrs. 	475 			380 
2900 				1775 			1420 
Materials used in October were as follows: 
Materials Requisition No.		 Job No. 		Cost (Rs.) 
54 					118 			300 
55					 118 			425
 56 					118 			515
 57					 120 			665 
58 					121 			910 
59 					124 			720 
3535
 A summary for labour hours deployed during October is as under: 
Job No. 					Number of Hours
Shop A 			Shop B 
115 				25 			25 
118 				90			 30
 120 				75			 10
 121				 65			 –
 124 				25 			10 
275			 75 
Indirect Labour:
 Waiting of material					 20 			10 
Machine breakdown 					10			 5 
Idle time 						5 			6 
Overtime premium 					6 			5 
316 			101 
A shop credit slip was issued in October, that material issued under Requisition No. 54 was returned back to stores as being not suitable. A material transfer note issued in October indicated that material issued under Requisition No. 55 for Job 118 was directed to Job 124. The hourly rate in shop A per labour hour is Rs. 3 per hour while at shop B, it is Rs. 2 per hour. The factory overhead is applied at the same rate as in September. Job 115, 118 and 120 were completed in October. You are asked to compute the factory cost of the completed jobs. It is the practice of the management to put a 10% on the factory cost to cover administration and selling overheads and invoice the job to the customer on a total cost plus 20% basis. What would be the invoice price of these three jobs? (Ans: Invoice Price 115- 3946.80, 118- 3721.08, 120- 3598.32)
Question No.7 A firm manufactures a standard article in three qualities of which is produced during the year 31st December, 2006:
1500 articles of quality A, 1250 article of quality B and 750 article of quality C.
The stock of finished goods on 1st January, 2006 was:
300 articles of quality A, 200 articles of quality B and 100 articles of quality C.
Sales during 2006 were:
Quality A 1750 articles at Rs.112.50 per article
Quality B 1300 articles at Rs. 90.00 per article
Quality C 750 articles at Rs. 75 per article
The following figures, in respect of this year, were extracted from books of account:
							Rs.
Work in progress on 1st Jan 2006 			27,000
Work in progress on 31st Dec 2006			 10,700
Cost of Raw material used in manufacture 		51,000
Manufacturing wages 					110,000
Cost of stores used in manufacture 			9,500
Depreciation (works)  					14,500
Works expenses 					23,700
From the above particulars, prepare manufacturing and trading account for the year 2006, showing the amount of gross profit carried to profit and loss account assuming that the rate percent of gross profit is the same for all the three kinds of articles.
Question No. 8 The following are the balances of the impersonal ledger of a colliery relating to revenue at the end of the year:
Wages paid for coal production 			580,000
Coal for colliery consumption 				45,000
Timber used in coal production 			64,000
Rope used in coal production 				12,000
Salaries paid 						8,000
Royalties paid for coal production 		42,000
General charges for coal production 		70,000
Salaries for coal production 			36,000
Coal sold 					884,000
Wages paid for coke making 			50,000
Stores used 					37,000
Coke sold 43,500 tons 				540,000
The stock of coal at the beginning of the year amounted to 7000 tons valued at Rs. 5 per ton and at the end of the year 15000 tons at the similar rate. The stock of coke at the beginning of the year amounted 2000 tons valued at Rs.10 per ton, and at the end of the year 500 tons valued at similar rate.
The total production of the colliery was 185000 tons of the coal and 42,000 ton of coke, 65000 tones of coal being used for coke making.
Prepare separate production accounts for coal and coke showing the cost of each item of expenses per ton of coal and coke, separately, taking coal used for coke making at cost price, working to two places of decimal only.
Question No. 9 Ares Plumbing and Fitting Ltd. (APFL) deals in plumbing materials and also provides plumbing services to its customers. On 12th August, 2014, APFL received a job order for a students’ hostel to supply and fitting of plumbing materials. The work is to be done on the basis of specification provided by the hostel owner. Hostel will be inaugurated on 5th September, 2014 and the work is to be completed by 3rd September, 2014. Following are the details related with the job work:
 Direct Materials 
APFL uses weighted average method for the pricing of materials issues. 
Opening stock of materials as on 12th August 2014:
 - 15mm GI Pipe, 12 units of (15 feet size) @ Rs.600 each 
- 20mm GI Pipe, 10 units of (15 feet size) @ Rs. 660 each
 - Other fitting materials, 60 units @ Rs.26 each 
- Stainless Steel Faucet, 6 units @ Rs.204 each 
- Valve, 8 units @ Rs. 404 each
 Purchases: 
On 16th August 2014:
 - 20mm GI Pipe, 30 units of (15 feet size) @ Rs.610 each
 - 10 units of Valve @ Rs. 402 each 
On 18th August 2014:
 - Other fitting materials, 150 units @ Rs. 28 each 
- Stainless Steel Faucet, 15 units @ Rs. 209 each
 On 27th August 2014:
 - 15mm GI Pipe, 35 units of (15 feet size) @ Rs.628 each 
- 20mm GI Pipe, 20 units of (15 feet size) @ Rs. 660 each
 - Valve, 14 units @ Rs. 424 each 
Issues for the hostel job:
On 12th August 2014: - 
20mm GI Pipe, 2 units of (15 feet size)
 - Other fitting materials, 18 units 
On 17th August 2014:
 - 15mm GI Pipe, 8 units of (15 feet size)
 - Other fitting materials, 30 units 
On 28th August 2014: 
- 20mm GI Pipe, 2 units of (15 feet size)
 - 15mm GI Pipe, 10 units of (15 feet size)
 - Other fitting materials, 34 units
 - Valve, 6 units 
On 30th August:
 - Other fitting materials, 60 units
 - Stainless Steel Faucet, 15 units
 Direct Labour: 
Plumber: 180 hours @ Rs. 50 per hour (includes 12 hours overtime)
 Helper: 192 hours @ Rs.35 per hour (includes 24 hours overtime) 
Overtimes are paid at 1.5 times of the normal wage rate.
 Overheads: 
Overheads are applied @ Rs. 13 per labour hour.
 Pricing policy: It is company’s policy to price all orders based on achieving a profit margin of 25% on sales price. 
You are required to (a) Calculate the total cost of the job. (b) Calculate the price to be charged from the customer (Ans: Total cost 44,367.95 Total price- 59157.27)
Question No.10 A factory incurred the following expenditure during the year 2007:
 (Rs.)
 Direct material consumed 							12,00,000 
Manufacturing Wages								 7,00,000 
Manufacturing overhead: 
Fixed 					3,60,000 
Variable				 2,50,000 				6,10,000
 25,10,000 
In the year 2008, following changes are expected in production and cost of production.
(i) Production will increase due to recruitment of 60% more workers in the factory. 
(ii) Overall efficiency will decline by 10% on account of recruitment of new workers. 
(iii) There will be an increase of 20% in Fixed overhead and 60% in Variable overhead.
(iv) The cost of direct material will be decreased by 6%.
(v) The company desire to earn a profit of 10% on selling price. 
Ascertain the cost of production and selling price
Question No. 11 A Company produces two joint products P and Q in 70 : 30 ratio from basic raw materials in department A. The input output ratio of department A is 100 : 85. Product P can be sold at the split of stage or can be processed further at department B and sold as product AR. The input output ratio is 100 : 90 of department B. The department B is created to process product A only and to make it product AR. 
The selling prices per kg. are as under: 
Product P Rs. 85, Product Q Rs. 290, Product AR Rs. 115 
The production will be taken up in the next month. 
Raw materials 8,00,000 Kgs. 
Purchase price Rs.80 per Kg.
 Deptt. A 		Deptt. B 
(Rs.) Lacs 		(Rs.) Lacs
 Direct materials 				35.00 			5.00
 Direct labour 					30.00 			9.00
 Variable overheads 				45.00 			18.00 
Fixed overheads 				40.00 			32.00 
Total 						150.00 			64.00 
Selling Expenses:			 Rs. in Lacs 
Product P 				24.60 
Product Q 				21.60
 Product AR 				16.80 
Required: 
(i) Prepare a statement showing the apportionment of joint costs.
(ii) State whether it is advisable to produce product AR or not.
Question No.12 A jobbing factory has undertaken to supply 200 pieces of a component per month for the ensuing six months. Every month a batch order is opened against which materials and labour hours are booked at actual. Overheads are levied at a rate per labour hour. The selling price contracted for is Rs. 8 per piece. From the following data present the cost and profit per piece of each batch order and overall position of the order for 1,200 pieces.
 Month 		Batch		 Material 	Direct 		Direct
 Output 	cost		 wages		 labour hours 
(Rs.)  		 (Rs.) 
January	 210		 650 		120 		240 
February 	200		 640 		140 		280 
March 		220 		680 		150 		280 
April		 180 		630 		140		 270 
May 		200 		700 		150 		300 
June 		220 		720 		160 		320 
The other details are : 
Month 			Chargeable expenses 		Direct labour
 				(Rs) 			hours 
January 			12,000 			4,800 
February 			10,560			 4,400
 March 				12,000 			5,000 
April				 10,580 		4,600 
May				 13,000			 5,000 
June 				12,000			 4,800

Question No. 13 Cherry Blossom polish company Ltd. manufactures black and brown polish in one standard size of tin retailing at Rs.1.08 and Rs.1.20 respectively. Following data are supplied to you for the year ended 31st December 2007:
Rs.
Direct Material:
Polish 						738,000
Tin 						288,000
Direct Wages 					244,800
Production overhead 				367,200
Administrative and selling overhead 		122,400
Sales for the year were: Black 1,440,000 tins and Brown 600,000 tins. The opening and closing stocks were:
Black		 Brown
Opening stock 			48,000 		160,000
Closing stock 			108,000 	60,000
The opening stock of black and brown polish was valued at it’s cost of production of 80.4 paisa per tin and 86.4 paisa per tin respectively. The cost of raw materials for the brown polish is 10% higher than that for black but there is no difference in the cost of tins. Direct wages for brown are 8% higher than those for black polish and production overhead are considered to vary with direct wages. Administrative and selling overhead is absorbed at a uniform rate per tin of polish sold.
You are required to prepare a statement showing the cost and profit per tin.
Question No. 14 Raw Material ‘AXE’ costing Rs. 150 per Kg and BXE costing Rs. 90 per Kg. are mixed in equal proportions for making product A. The loss of material in processing works out to 25% of the product. The production expenses are allocated at 40% of direct material cost. The end product is priced with a margin of 20% over the total cost.
Material BXE is not easily available and substitute raw material CXE has been found for BXE costing Rs.75 per kg. It is required to keep the proportion of this substitute material in the mixture as low as possible and at the same time maintain the selling price of the end product at the existing level and ensure the same quantum of profit as at present.
You are required to compute the ratio of the mix of the raw materials AXE and CXE.
Question No. 15 ABC Ltd makes two types of polish, one for floors and one for cars. It sells both types to industrial uses only, in one litre containers. The specifications for the two products per batch of 100 litres are:
Material			Floor polish		Car Polish
Delta				120 Litre		100 Litre
Gamma				20Kg			10Kg
Container Cost per 100	Rs.100			Rs.100
Direct Labour
Manufacturing		12 man hour		16 man hour
Primary packing	5 man hour		5 man hours
During the six months to end of 30th june, the company expects to sell 15,000 litres of floor polish at Rs.9 per litre and 25,000 litre of car polish at Rs.7 per litre. Materials are expected to cost Rs.1 a litre for Delta and Rs.8  a Kg for Gamma.
Manufacturing wages in the industry look like being stable at Rs.6 per hour and packing wages at Rs.4 per hour, through out the period.
Flexible overhead expense budgets are operated for manufacturing and packing departments based on the number of man hours worked. The budgets for six months to end of june are:
Manufacturing department			Packing Expenses
Rs.							 Rs.
5,000 man hours	40,000			1,700 man hours		26,000
6,000 man hours	50,000			1,900 man hours		28,000
7,000 man hours	60,000			2,100 man hours		30,000
8,000 man hours	80,000			2,300 man hours		32,000
General administration overheads are budgeted at Rs.37,000. At the beginning of the period 1st January packed stock will be:
Floor polish	2,000 litres
Car polish	3,000 litres
By end of the period 30th june, it is desired to maintain the packed stocks of the products at 3,000 litres and 4,000 litres respectively. The following are required:
1. A statement of the standard prime cost per 100 litres of each product.
2. A sales and production budget (in quantities) of the six months to 30 june.
A profit forecast for the period. Show separate gross profit for the two products but do not attempt to allocate overhead between them. No overheads are included in stock valuations. 



